Model Questions

(Mathematics 30 Questions)

1. 9% 099999 + x = 10 W, ©@ x =

1. If 0-99999 + x = 1-0, then x = (A) 0-00001 (A) 0-00001

(B) 0-000001 (B) 0-000001

(C) 1-00001 (C) 1-00001

(D) 0-11111 (D) 0-11111
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[Here, ut = unit of length]

3. The number of numbers which is prime but
composite is
(A)1
(B)2
O3
(D)5

4. You have ° 100-25 and then you buy a
candy with ° 9-70. How much money will be left
with you?

(A) " 99-55
(B) " 99-45
(C) " 9155
(D) " 90-55
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6. In a division sum, the divisor is twice the
remainder and the quotient is half of the
remainder. If the remainder be 12, then the
dividend is

(A) 144
B) 72

(©C) 156
(D) 256

7. “Errors play an important role in
Mathematics”— the statement is
(A) False, as it demonstrates carelessness (B)
False, as mathematics should be free from errors
(C) True, as it helps teacher to understand
student’s concept
(D) True, as errors indicate low 1Q

8. What is the purpose of remedial teaching in
Mathematics?

(A) To help students to overcome learning
difficulties

(B) To help students by providing opportunity for
extra learning time

(C) To help teachers by providing extra classes
(D) To help H.M. to prepare a balanced time table

9. H.C.F. of two whole numbers is
(A) always less than each of the two whole
numbers
(B) always less than or equal to the two whole
numbers
(C) always greater than the two whole numbers
(D) always less than or equal to the two whole
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numbers if the two whole numbers be
non-zero

10. Formative assessment in Mathematics at

primary level includes

(A) identification of common errors
(B) grading and ranking
(C) testing procedural knowledge (D)
identification of learning gaps
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